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01

What is the necessary condition for turning? -d?rrr$ 1%‘1'\'{ sna?zqaa = == %’?

A) Work piece harder B) Cutting tool harder . C) both A & B : D) None of
than cutting tool than work piece & | TR =T these
a%tﬂﬂaﬁﬂ@r@r . gaeHEHEITER | - AR

02

Movement of tool parallel to the axis of job is termed as______. & U &l @ E
AR H g & A=R01 &Y FHol Sl g

A) Iongitudinal feed B) cross feed - C)both A & B ] D) None of these '
sgeef wis - BE WS T 3R &t gAY ERE RS aﬁ‘&‘?ﬁ

03

A tapered work piecé has large diameter D = 80 mm, small diameter d=70 mm & taper
is 1/20. Find the taper length in mm? U& U= 9HUNT &1 U™ &9 D = 80 faef, Erg
= d = 70 7o iR Rigpar (@UR) 1/20 &1 TUR &1 diars At | 91a Sifsdr

A)80' I B)50 - , ’ [ C) 100 | D) 200

04

Which of the following is not work supporting device? gfeaa f{@ ﬁ?-rmaaﬁ ﬁ eI |.
9 BT IUBHIT 81 872

A) face plate g € | B) fixture ﬁﬁlﬁ? | C) spindle m | D) chuck Id&

05

“Which of the following provides foundatlon for the whole machine? ﬁg’%@ﬁ R R

1 g 1= ¥ Riw g e o=dr o7

A) tallstockml B) carriage Sl | C) headstock%’SElTﬁ | D) beda@r

06

A gear wheel has 36 teeth and: 3 mm module, its pitch diameter is ' mm. ﬁI'CIT

=Fe P 36 &id © 3R 3 TP =1 tifsyw 2, O S99 09 &1 et g

A)12 ‘IB)75 IC)108 |D)33

07

A hole is being drilled with 5 mm drill at a feed of 0.1 mm/revolution and speed is 200
rpm. -Calculate the metal removal rate in mm3/minute. 0.1 mﬁ@lﬂ-‘lﬁ PFHISUI5
o fga s Qaa%—c{%aﬁo—mww% e?nwﬁﬂﬁr 200 IRUEH 81 %nge—c"ﬁaé’ra?
T3 /forre & o B

A) 3928 - ]B) 785.6 - |C) 1570 , ID) 2570

08

To cut a Right hand threads, the splndle and Iead screw rotates in TI%?%—
g Ppled &H 71y, @sﬁah??ﬁg@__ﬁm%y

A) Opposite | B) Same C) ‘Can be rotated in any D) Lead screw rotates but
Direction. Direction | - direction depth. Spindle does not rotate

_ Tp el T oft fe=m & garn NS & gudn § At
foa=m fa=m ST HPAT® | L] ST gHEar g R |

09

1 inch = mm. 1sd = e ﬁlﬂm

A) 5.4 |-BV)15'.4' . IC)25.4 — |D)35.4.
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10

While machining cast iron, what should be the coolant? HRE GHST-'-[ a’ﬂ II'SZﬁf?-iTT ¥ g
Maeres a1 1 =y 2

A) Air I | B) Kerosene ™I . | C) Machine oil AR 4@ | D) Cold water Xltde Sia

11

The axial advancement in one rotation of a single start screw is known as — of the
threads. f%rﬁamé@aswﬁ%smﬁa{&ﬁaeﬁ%aﬁas H__ P EUHIAE SIrar
gl "

A) Helix ‘ B) Depth of cut -1 C) Pitch Diameter - D) Pitch
He B SIS og ==

12

How much percentage Chromium is there in HSS? HSS # fbd-1 HIoaT 87

A) 1% IB)4% _7 O 10)10% _ JD)18%

13

A hole whose lower deviation is zero is called basic hole.. Which one of the following
letter indicates basic hole? & 5% ST A= [da«aa = % 39 aﬁm ﬁ;a ol Sl
{1 o A 9 B 1 sieR AR g ) gxfar 872

A)E ~_|B)F & joe |D)H

14

Mild steel work can be machined ‘with rake angle. m_&'@@ﬁ?ﬁ[m Ib
BT P AT fHar ST Iadar 21 S

A) Negative - | B) Positive C) Any angle D) None of these-

i YATHS 1% ot BT STH Q4 PIS 8T

15

In a shaper machine, if the length of the cutting stroke is 10 mm and time required by
the cutting stroke is 5 second, then find the value of cutting speed in mm/second?
Vo TRAA H, W@Tﬁ‘q’ﬁﬁ@é 10 Tt & e«ﬁ?ﬁ%‘r@asas%q 5 Yebs AT T T,
l ShieA &t Ifd &1 aF, i/ s & g sifsie?

A2 . LB)OS : - [O) 1 D)8

16

Which of the following is not an alloy? ﬁg%ﬁ@aﬁﬁ%ﬁam an‘fi‘rsr eTg :ra"r g7

A) Steeileﬁ'er TB) Copper qisT C) Bronze %0 | D) Brass Ulaa

17

The pattern on the work surface -caused by the movement of the cuttlng tool is ‘called

- PIRT A &S T H PRUIGH Bl A WA AA ST S Pl 1l 8|

A) Waviness WJB) Roughness S{HYdT | .C) texture §-Idc. TD) Lay @

18

_____-__is the operation of finishing and sizing a drilled hole. IS& 5o BU Uh %?? Ea
IR SR et ST 3 9 ufthar & _ _ &gl oAl B

A) Reamlng JeT [ B) Grooving Eﬁ'ﬂ TC) Chamfenng Wﬁ'ﬂ |D)Gr|nd|ng ‘JI'IE%"T
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19

In 1" B.S.P thread, 1" indicates_____. 1"BSPaSH 1" _ Sff1a wvar o

A) Nominal B) Pitch of thread C) Minor diameter | D) Major diameter of
diameter of pipe g8 &1 fog of thread . thread =~ ‘

20

Select most approprlate answer? Whtch of the follow:ng machlne is prlmarlly intended

-for producing flat surfaces? a9 34 Yokd I BT I

g@m%mﬂﬁﬁ%ﬁﬁmaa%qafﬁma%?

A) Drilling &S B) Slotting &I | C) Lathe AU | D) Shaping 24T

21

The operation of removal of metal by feeding work piece against a rotating cutter is

knownas ______ . d% tﬁﬂﬁana?ffmés Wuﬁgma@aﬁ geH B1 ufehdr
o) Pal ST ’

"A) grinding TTSIST | B) drilling IS | C) tapping ST D) milling ﬁﬂ%m

22

‘Determine the cutting speed of the shaft in mm/min whose diameter. (d)=14 mm, and

speed (n)=50 rpm"QﬁFWﬁlﬂaﬂa}m (d) = 14 faefy, nfa@s) = 50 MUy,
a?mﬁaﬁrr%ﬁtﬁ/ﬁ%ﬁwﬁ? ¥

A) 2200 iB) 1100 [C) 4400 | D) 8800

23

The quality control allows at the most 0.4% defective parts. How many defc_active parts
can be allowed in a production of 500 parts? T0IGI ﬁ'CEI'UT a?a?r 0.4% E;\'Q'U;Uf Y| B
3FATT ST § 1 500 HRT & Ieared H fpas Srugul Wil 1 srgafa & s Al 82

A [B)2 [C)10 TD) 20

24

1 A cutting tool has following specification: 8-14-6-6-15-20-4. What is the nose radius of

the tool in mm? b BT ga ur Fuferaa Rferd fRamar Titn% 8-14-6-6-15-20-4, T&T'
& b DT BFear @l ISTw) e i & 2

A)8 . |B)4 R ]C)S ID)15

25

d1 & dz are dlameter of work before & after machining respectively. The depth of cut (t)
: . d1 3R d2 HHARE: mﬂﬁn@usﬁahtﬁﬁﬁ%asmaa%tﬂﬂasm%laﬁ
aﬁ R c) YR

A)d1i-dz ' [ Byd:+dz | C) (d1-d2)/2 | D) (d1 + d2)/2

26

Select most appropriate answer? Which one of the following is an essential element to
make stainless stee%? gl fasea g+ » FafeRaa 7 @ o139 91 L9100 Wa 991 & g

A)C [B)O2 [©yCcr [D) Si

27

The grain siZe of a grinding wheel is indicated by numbers. *Very Fine' graln size is
indicated by number __ . & e P HoT BT Hg IS @gﬁﬁr ST Bl
Sgd IRk HUI BTHTT __ o ¥ gHa fParsmarg

A)10524 1B)30-6o [C)80-180 [ B) 220 - 600
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28 .

How do you recognize a drill for soft metal? 30 W UId P 10T Tod &1 4 Uedid 57

A) By the chisel edge B) By the large helix | C) By the small | B) None of these

%rlrigrlﬁo——lﬁe o g | gn%g%"%aqle Bor %egx%%mang‘eaﬁm AR

SRI gRT

29

In a boring operation, what will- be the change in the diameter of work for 1.5 mm
displacement of tool point? Tep IRAT T H, gaf &g & 1.5 &+t ﬁurrcFr WRTH PH
g H fopaar ufyad= gz ' :

A) 6 mm [ B) 1.5 mm ' IC)Smm |D)075mm

30

Machine used to cut gears is called machme mm%mmﬁ'ﬁﬂﬁ
qretl A== &1 a=f= HoT SIraT 81

A) Milling AT | B) Shaper®a® | ©) Latheﬁu | D) Grinder aIES<

31

The degree of closeness of the measured value of a certain quantity with respect to its

true value is known as . G iR Bt AU g A@E A 9P I8 AT B FAeedr
& _ Pl gl , . ’

A) Sensitivity B) Precision . (j) Accuracy 9cidbdar | D) Standard

32

Lathe machine is made of oI HRIF ‘ I sidi B

A) diamond BIRT | B) plastic C) wood aﬁﬁ ' ) metal U1
| s

33

A tool which is used to enlarge a prewously drllled hole is known as

ged I &9 53 71 55 &l 91 H9 & Riwya fear srar g, S99 ' aasnar%

A) Boring tool B) Facing tool C) turning fool D) All of these
= R ik B g

34

‘Difference of the two limits in size of the object is known as . Hﬁaiwﬁ &l

Hreh & AR BY ' el Srar gl

A) Design size B) high limit C) tolerance SIa-0 D) low limit’

35

Select correct option. Which type of chip is produced during machining of a mild steel

barv@ﬁmmwﬁlwmﬁﬂam%wﬁwﬁwmwaﬁﬁm
BT ITG Bidl 82

A) continuous - | B) Dlscontlnuous C) discontinuous Chlp with D) None of these
© . chip chip : built up edge TcAdIclT . S8 9 BIs Aol
PR =g gedaren =g RufSee smuga H oy |

36

A tool used to cut o%tmde threadsiscalled ________ . Sielt IS maﬁafﬁrqqgaag\a Cal
el Sildl

A) Dnufaﬁ | B) Dle?:.'l'sf ] C)Tap-?:ftr R [ D) Reamer 18R

37

The headstock of a lathe is situated at the . Uk qY AR BT esxKlh

A) Right hand end of B) Middje of the | C) Bottom of the | D) Left hand end of
the lathe bed - lathebed - lathe bed the lathe bed
TY 8 & alfg 3R AU IS B HY AA 98 B AIF TAY IS P qE 3HIR

38

The angle which is less than 90° is called as __ . Sl BIUT 90° ¥ &HH %, S

_______Pgl S gl

A) obtuse angle | B) acute angle T C) right-angle D) none of these

A Y B A8l
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39

Which of the followmg represent the uni of cutting speed’? ﬁgﬁlﬁﬂﬁ J B HIeT BT
T FI sHE BT uRiRa s @

A) m / min o | B) m x min C) m? x min. ' D) m2 / min

/e o #t x e - o2 x fi=e Hi2/ A

40

Work piece is held in O g &t d gmsIwarsl

A) Head stock 88 1% | B) Carriage $¥Sl | C) Chuck 91 | D) Tail stock & 1

41

Drill is the most common type of drill used for all purposes. Fﬂ—ﬂm%m
IUONT 8 o aIell 99 3TH ISR B fSa 1A __ Sa gl

A) Spade ¥S TB) Twist fg=e | C) Flat 'ﬁj D) Straight flute c Ue

42 .

In a drill, which part helps the coolant to flow to the cutting edge”@%ﬁﬁﬁq a1 3ier
RIGEED (T B BT db YAl P H Heq Hdl o7

A) point dige | B) tang it [ ©) webas ' | D) Flutes t@:c

43

The body of the chisel is usually made in the shape of -~ . . D91 Bl BiET SMTHAR U
HTHR B ST ST g - ,

A) Square o l B) Rectangular HIAAIR R I C) Hexagonal m | D) Round Tﬁ?f

44

- is an operation of removing excess metal with the help of chisel and hammer.

S+ ofw e Jefiaaugsisem B afsaisdI - &sd ©1

A) Cutting &I l B) Chipping =ITtT | C) Shaping ?@fﬁ"T D) Slotting TSI

45

-1 mm is equal to : micron. 1 & : HISh P S3MER

A) 1000 | B) 100 . ‘ C) 10 D) 10000

46

T 'Which of the following is hardest material? NEIAd & 9§ B 999 B3R Tl 87

A) Ceramic - { B) Boron nitride | C) Cemented carblde D) Diamond

IR AECSS |

47

The diameter of a hole is measured by __ i micrometer. T&F g BT .
: BIRT |97 ST 8 :

A) Depth B) Inside SA9SS C) Outside D) None IS aT

48

o 2 <
Convert 5/10 in to decimal? 5/10 &1 GRIHTT & UiRkdidd B2

A) 0.005 ~ [ BYoos ‘ 1©05 |D)5

49

“How much is the angle of Metric trapezoidal thread? ﬁﬁﬁm DIy wr@urﬁa—cm

T2

A) 300 [Bya5° [©)60° ~ [Dyso°

50

In lathe machine, when the tool is fed parallel to the rotation of job work, it will produce
: surface. Qas"aumzﬁqﬁ Glﬂ@?f Pl Sl & @ﬁ%ﬂﬂﬁﬁ?ﬁuﬁgﬁo—m I H
TAUE___ - Ode AR BN

't A) Tapered B) Hexagonal Eﬁ Capie C) Sphencal D) Cylindrlcal SEIBIR

RIPDHIX
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